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The bar chart shows the a 

comparison of the ratio of the 

number of the people who live in 

urban areas in six parts of the world 

in three times 1950, 2007, and 2050.  

 

One of the most striking features is 

that the amount of the huge 

increased  in the percentage during 

the 100 years. The percentage of 

population living in cities in Asia is 

expected to increase the most from 

17 to 66 percent in the 100 years. 

The percentage of population in urban areas in Africa and Latin America/ and the 

Caribbean will increase from 15 and 42 to 62 and 89 respectively. On the other hand, in 

Oceania the percentage of that will increase from 62 to 76, which is the smallest increase 

in this period. 

 

Second, North America keeps  it is predicted to have the highest ratio of population in 

urban areas by 2050. In 1950, North America, Oceania, and Europe were the three most 

urbanized areas with 64, 62, and 51% respectively, whereas in 2050 Latin 

America/Caribbean will be the second urbanized area overtaking Oceania and Europe. 

 

 

Grade Criteria Estimated  

Grade 

 

Task response 5 You must have an overall summary somewhere to get 

to 6. Something like “overall, the proportion of people 

Comment [z1]: Don't copy the symbol 

from the chart. Action is an error in the 

chart because that symbol means or an it 

should be and. 

Comment [z2]: Too many numbers. Only 

use a “respectively” with a maximum of 

two numbers [three at the most]. Or is 

just too many for the reader to work out 

what all the numbers represent. 

Countries? Years? 

Comment [z3]: Second? What is first? is 

it “one of the most striking features”? 

This is too far back. Also, this is just not a 

good way to sequence your ideas. 

Comment [z4]: This is vital; you have to 

show the examiner that you realise there 

is some kind of prediction involved here, 

and that's these numbers have not 

already been achieved 

Comment [z5]: this is confusing and 

difficult to follow . you say the highest 

mean you have this stuff in yellow and 

then you go to the second-highest. It is 

difficult to follow because of all the 

countries all the years and all the 

numbers; this is just a mess! 
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living in cities increases in all areas” 

 

It's difficult to see how well you have covered the data 

because you structure of this report poorly. 

Cohesion and 

coherence 

5-6 You need to have an organising principle for your 

report. I suggest you take the fewer of the number of 

years and a number of countries. In this case we have 

fewer years so you should structure by year. The 

structure should be: 

Introduction= rephrase+ overall summary 

1950 

2007 

2050 [prediction] 

 

Note that this structure also allows you to deal with the 

predicted data are better. You can have two paragraphs 

written in the past tense and one paragraph written in 

the future tense. 

Vocabulary 7 A few you errors with word endings: 

One of the most striking features  

the huge increased   

Grammar 7 Errors with articles (a, an, the) you can do a quiz here: 

http://www.ieltsanswers.com/IELTS-Grammar.html  

shows the a comparison of 

percentage during the 100 years 

in urban areas in Africa 

overall 6 Overall, you have relatively few errors with 

vocabulary and grammar, but you need to structure 

your task much better and you always need to have an 

overall summary for task one or you can get over five 

for the task response. 
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